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Questions

A port on the computer may be connected to

Expansion cards are inserted into

The external devices that are connected to a computer system are known as

Debugging is the process of

The output of the compiler is called

A program's syntax errors are detected by

The program that contains instructions to operate a device is called

Which of the following is to business

Most applications of robotics are in which area

The fly - by wire system is used in

Which of the following is not included in document management system

CBT stands for

The benefit of CAD may be summed up as

Computer at home can be used for

Answers Choice

A. Expansion card
B. CPU
. Mother board
.Bothaandc

C

D

A. Slots

B. Peripheral devices
C.CPU

D. Back of the computer
A. Expansion cards

B. Peripherals

C
D

. Buses
. Stols

A. Identifying errors in your
application

B. Running an application to detect
any errors

C. Restarting a program when errors
oceur

D. Identifying correcting and
eliminating errors in your application

A. Program

. Source code
. Linked code
. Object code

@

. Compiler

. Linker

. Loader

. Debugger

. Device driver

. Device operator
. Device inking

. Device system

. Marketing

. Stock exchanges
. Banks

LAl

. Science

. Manufacturing
. Education

. Farming

. Air line
. Education field
. None of the above

. Word - processing

. Desktop - publishing
. Reprographic

. E - shopping

. Computer Based Trade

. Computer Based Training
. Certificate Based Training
. None of the above

. Accuracy
. Repeatability

. Speed and flexibility of production
LAl

. Keeping records
. Making budgets
. Watching movies

C
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D
A. Medical field
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D. All



A. Write text
B. Edit text

15 A word processor can be used to C. Print text



